Problem 1
Screenshot below shows the command run.
[image: ]
The command is made up of three parts. The first is a $find command that looks through the entire database (/isip/data/tuh_eeg/v0.3.3) for a pattern that matches *[AaEeIiOoUu]*[aeiou]* [aeiou]*_?????*. This matches every directory that has three vowels in the last name and at least five characters in the first name. The second part (wc -l) counts each output line from $find. The third part places the result into a text file.
Screenshot below shows  the contents of the output text file.[image: ]
Problem 2
Before running the bash script, a list of all *eg_00.txt files was created using $find /isip/data/tuh_eeg/v0.3.3/book_01 -name *eg_00.txt > ~/homework/exam_01/prob_2.list
The bash script (prob_2.sh) in the below screenshot was created to loop through the list of files passed to it and sum their size in bytes.  The variable Bytes was printed in each loop to assure that the script was running.
[image: ]
The screenshot below shows the end result of the summation. 
[image: ]
To find disk space using du see the screenshot below. The find command used to generate the prob_2.list file is now piped to du. This works because of ‘-print0’ in find and ‘-files0-from=-’ in du. ‘-bc’  makes du output a total size in bytes from the input passed to it. Finally, ‘tail -n1’ prints only the last line (the total) of du’s ouput.
[image: ]

At this point, it should be noted that the output from the bash script and the du command are the same. 
Problem 3
The screenshot below shows ssh-ing into electrodata, the login prompt, and a bash command.
[image: ]
The screenshot below shows all process under my login and how they are connected graphically. The bash session that ran $ps was created by a bash session with PID 43539. This can be verified by the PPID (Parent Process ID) of $ps (43539) and the PID of the bash session (43539). 43539 is a child process of 43507, which is the ssh session. Killing this session will close the remote session.

[image: ]

kill the top level process so that all children are killed also
demonstrate that this logs you out and leaves no processes running
 (do the latter by logging in again and see what is running under
  your name)

The screenshot below shows that killing process 43507 closes the remote connection.
[image: ]
[bookmark: _GoBack]The screenshot below shows that after restarting the remote connection the previous login PID (43507) no longer exists. The login of the screenshot is 4087. 
[image: ]
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$ ssh tudd5>372@electrodata.eng.temple.edu
ud45372@e lectrodata. eng. temple.edu’s password:
Icome to Ubuntu 12.04.5 LTS (GNU/Linux 3.13.0-36-generic x86_64)

* Documentation: https://help.ubuntu.con/
System information as of Mon Sep 29 19:14:41 EDT 2014
system load: 2.66 Processes: 293

Usage of /:  21.8% of 910.598  Users logged in: 1
Memory usage: 15% 1P address for eth0: 129.32.60.13

Swap usage: 0%

Graph this data and manage this system at:
https://1andscape. canonical . con/

New release '14.04.1 LTS' available.
wn 'do-release-upgrade’ to upgrade to it.

four Hardware Enablement Stack (HWE) is supported until April 2017.

ast Togin: Mon Sep 29 18:50:26 2014 from c-68-81-73-132.hsdl.pa.comcast.net

ud45372@e]ectrodata:~$ bash
ud45372@eTectrodat:
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ud45372@electrodata:~/homework/exam_01$ ps -f --forest -u tud45372

D PID PPID’ C STINE TTY TIME CMD
ud45372 43507 39568 ? 00:00:00 sshd: tud45372pts/3
udd5372 43539 43507 pts/3 00 \_ -bash

udd5372 15705 43539 pts/3 \_ ps -f ——forest -u tud4s3
sshd: tudd53728pts/0
“bash
\_ bash
d: tudd5372@pts/s
“bash

ud45372 42533 37399
udd5372 42560 42533
ud45372 25565 42560
udd5372 33625 28307
udd5372 33663 33625
udd5372 25549 21277
ud45372 25580 25549
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temple.edu closed by remote host.

ud45372@electrodata:~/homework/exam_01$ ki1l 43507Connection to electrodata.en
onnection to electrodata.eng.temple.edu closed.
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ast login: Mon Sep 29 19:57:34 2014 from c-68-81-73-132.hsd1.pa. comcast.net
ud45372@eTectrodata:~$ ps —f --forest -u tud45372

D PID PPID C STIME TTY TIME CMD

ud45372 4087 62064 0 20:46 ? 00 sshd: tudd5372apts/3

udd5372 4122 4087 pts/3 00 \_ -bash

udd5372 8375 4122 pts/3 \_ ps -f ——forest -u tud4s3

ud45372 42533 37399 ? 00 sshd: tudd5372epts/0
udd5372 42560 42533 pts/0 00 “bash

ud45372 25565 42560 pts/0 00 \_ bash
udd5372 33625 28307 ? 00 sshd: tudd5372apts/5
udd5372 33663 33625 pts/s 00 \_ “bash

udd5372 25549 21277 ? 00 sshd: tud45372@pts/2
ud45372 25580 25549 pts/2 00 \_ “bash

ud45372@e] ectrodat:
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-ud45372@e lectrodata: /1s1p/data/tuh_eeg/v0.3.33 Tind /isip/data/tuh_eeg/v0.3.3
[-name *[AaEeTi00Uu][aeiou] *[aeiou]_77227% | we -1 > ~/homework/exan_01/prob_1
[ txt
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Fzg4537lﬂe]ectrodata:~/humwwk/ﬁm01§ cat prob_1.txt
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1/bin/bash
ytes=0

hile read Tine; do
Bytes_file=t(1s -1 S1ine | auk “{print $5;3")
Bytes=s ((Bytes+Bytes file))
echo oot

done < <

"prob_2.sh" 101, 142C
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ud45372@electrodata:~/homework/exam_01% tail -nl prob_2.count
17688004
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)00.txt

ud45372@electrodata:~§ find /isip/data/tuh_eeg/v0.3.3/book 01 -name *e
print0 | du -~filesO-from=- -bc | tail -nl
7688004 total




